ED 3D-THST  rll=al+(l-al)*cos(t)  rdl(ty=al+(I-al)*cos(@*t) r51(t)=al+(l-al)*cos(5*t) r71(ty=al-+(1-al)*cos(7*t)
n=5 r12(t)=b2*cos(2*t) r42(t)=b2*cos(2*4t) r52(t)=b2*cos(2*5t) r72(t)=b2*cos(2*7t)
ml =1 RAERE  r13(t)=b3*cos(3*t) r43(t)=b3*cos(3*4t) 153(t)=b3*cos(3*5t) 173(t)=b3*cos(3*7t)
m=2 m3=3 rl4(ty=b4*cos(4*t) r44(t)=b4*cos(4*4t) r54(t)=b4*cos(4*5t) r74(t)=b4*cos(4*7t)
al =04 b2=035 r2l(t=al+(1-al)*cos(2*t) r31(t)=al+(1-al)*cos(3*t) r61(t)=al+(1-al)*cos(6*t)
-0 7 b3 =025 I22()=b2*cos(2*2t) r32(t)=b2*cos(2*3t) r62(t)=b2*cos(2*6t)
p:S ) b4=015 r23(t)=b3*cos(3*2t) r33(t)=b3*cos(3*3t) r63(t)=b3*cos(3*6t)
q r24(t)=b4*cos(4*2t) r34(t)=b4*cos(4*4t) 164(t)=b4*cos(4*6t)

c(u=1+ucos(p-wq) TS
s(u)=u sin(p-u/q)

x(t,u) = c(u) * cos(ml *t)
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y(t,u) = c(u) * sin(ml *t)

Z(t,u) = 1.2*s(u)

x(t,u) = c(u) * r11(t) * cos(ml*t)
y(t,u) = c(u) * r11(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r11(t)

x(t,u) = c(u) * r11(t) * cos(m2*t)
y(t,u) = c(u) * r11(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r1 1(t)

x(t,u) = c(u) * r11(t) * cos(m3*t)
y(t,u) = c(u) * r11(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r11(t)

x(t,u) = c(u) * r21(t) * cos(ml*t)
y(t,u) = c(u) * r21(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * r21(t) * cos(m2*t)
y(t,u) = c(u) * r21(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * 121(t) * cos(m3*t)
y(t,u) = c(u) * r21(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r21(t)

x(t,u) = c(u) * r31(t) * cos(ml *t)
y(t,u) = c(u) * r31(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r31(t) * cos(m2*t)
y(t,u) = c(u) * r31(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r31(t) * cos(m3*t)
y(t,u) = c(u) * r31(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r31(t)

x(t,u) = c(u) * r41(t) * cos(ml *t)
y(t,u) = c(u) * r41(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r41(t) * cos(m2*t)
y(t,u) = c(u) * r41(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r41(t) * cos(m3*t)
y(t,u) = c(u) * r41(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r41(t)

x(t,u) = c(u) * r51(t) * cos(ml*t)
y(t,u) = c(u) * r51(t) * sin(ml *t)

z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r51(t) * cos(m2*t)
y(t,u) = c(u) * r51(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r51(t) * cos(m3*t)
y(t,u) = c(u) * r51(t) * sin(m3*t)

Z(t,u) = 1.2*s(u) * r51(t)

x(t,u) = c(u) * r61(t) * cos(ml *t)
y(t,u) = c(u) * r61(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r61(t)

x(t,u) = c(u) * r61(t) * cos(m2*t)
y(t,u) = c(u) * r61(t) * sin(m2*t)

z(t,u) = 1.2*s(u) * ro1(t)

x(t,u) = c(u) * r61(t) * cos(m3*t)
y(t,u) = c(u) * r61(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * ro1(t)

x(t,u) = c(u) * r71(t) * cos(ml *t)
y(t,u) = c(u) * r71(t) * sin(ml *t)

Z(t,u) = 1.2*s(u) * r71(t)

x(t,u) = c(u) * r71(t) * cos(m2*t)
y(t,u) = c(u) * r71(t) * sin(m2*t)

Z(t,u) = 1.2*s(u) * r71(t)

x(t,u) = c(u) * r71(t) * cos(m3*t)
y(t,u) = c(u) * r71(t) * sin(m3*t)

z(t,u) = 1.2*s(u) * r71(t)
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